Calculation of the heat output and pump selection

Example 1:

Known:

Wanted:

Calculation:

Example 2:

Known

Wanted:

Calculation:

ATTENTION:

Forderhdhe /delivery head

[m]

IsoTherm with pump Grundfos UPS 15-60

Volume flow V = 750 I/h = 0,75 m3h
Temperature difference At = 6 K
Heat output Q

Remaining pump head Hggg;

Q=VxAtx 1,163
Q=0,75m%h x 6 K x 1,163

Q=57 kW

Hrest PUMP level 1 = 2,5 mWS (250 mbar)
Hrest PUMp level 2 = 3,8 mWS (380 mbar)
Hrest PUMP level 3 = 4,5 mWS (450 mbar)

IsoTherm with pump Grundfos UPS 15-60
A remaining pump head of 2 mWS should be available
Temperature difference At = 6 K

Volume flow V
Heat output Q

Pump level 1 Pump level 2

Pump level 3

V = 0,9 m¥h (from Diagramm) V = 1,4 m3h (from Diagramm) V = 1,7 m¥h (from Diagramm)

Q=VxAtx 1,163 Q=VxAtx 1,163
Q=09m*hx6Kx1,163 Q=14m¥hx6Kx1,163
Q=63 kW Q=98 kW

Q=VxAtx 1,163
Q=1,7m*hx6Kx 1,163
Q=118 kW

For the achievement of the nominal heat output the pressure difference primary circuit (boiler-/ radiator
circuit) to the secondary circuit (floor heating) should be at minimum 150 mbar.
The temperature difference between primary and secondary circuit should be at least 15 K.

IsoTherm

Restfoérderh6he / remaining delivery head

Grundfos UPS 15-60
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Volumenstrom / flow rate

Technische Anderungen vorbehalten / 3/h
Subject to technical modifications [m ]





